30 EE s S A

— mERAEE | ERE HX i3 MEX 13
(mg/L) E: 2E AET | BEFE HEh
8 X 8 — 128258 [ 28268 | 28268 [ 38118 | 3A4H
=) i - HE HIRE BE i) RER
= K = BHRR EmR ERE |BIEKRR| EBR
P H — 6.5 7.3 7.8 8.2 7.9
h F = v Ly 0.003 <0.0003 <0.0003 <0.0003 <0.0003 <0.0003
= P 7 vl miEhpnoe| BHEET BHeEd BHEY BHET B
£h 0.01 <0.005 <0.005 <0.005 <0.005 <0.005
N Y o L 0.05 <0.02 <0.02 <0.02 <0.02 <0.02
fit ES 0.01 <0.005 <0.005 0.005 <0.005 <0.005
#® K iR 0.0005 <0.0005 <0.0005 <0.0005 <0.0005 <0.0005
P c B |swmsheuce| BHed | Hmbed | gHed | sded | geed
D2y AN = B = B S S 0.02 <0.002 <0.002 <0.002 <0.002 <0.002
m & & & & 0.002 <0.0002 <0.0002 <0.0002 <0.0002 <0.0002
E’iﬁﬁ't I:I“:l::ltb ,:* , _i,’ _’) 0.002 0.0004 0.0010 <0.0002 <0.0002 <0.0002
A= = = S 0.004 <0.0004 <0.0004 <0.0004 <0.0004 <0.0004
1i1-oy9onxTFLy 0.1 <0.002 <0.002 <0.002 <0.002 <0.002
12->490RITFLY 0.04 0.027 <0.004 <0.004 <0.004 <0.004
111-r) 00Ty 1 <0.0005 <0.0005 <0.0005 <0.0005 <0.0005
112-c) 0BT R2Y 0.006 <0.0006 <0.0006 <0.0006 <0.0006 <0.0006
k) sBBITFLY 0.01 <0.001 <0.001 <0.001 <0.001 <0.001
Ttk 00ITFLY 0.01 <0.0005 <0.0005 <0.0005 <0.0005 <0.0005
13-snpJoRy 0.002 <0.0002 <0.0002 <0.0002 <0.0002 <0.0002
F % 2 L 0.006 <0.0006 <0.0006 <0.0006 <0.0006 <0.0006
> < o v 0.003 <0.0003 <0.0003 <0.0003 <0.0003 <0.0003
F A N2 AL T 0.02 <0.002 <0.002 <0.002 <0.002 <0.002
~ v + v 0.01 <0.001 <0.001 <0.001 <0.001 <0.001
t % b2 0.01 <0.002 <0.002 <0.002 <0.002 <0.002
E%&éﬁfgg%u 10 <0.08 1.8 2.0 <0.08 <0.08
A 2 ES 0.8 0.11 0.23 0.21 <0.08 0.32
[E3 P) * 1 0.26 0.09 0.06 0.02 0.29
14- 2 4 F 4 0.05 <0.005 <0.005 <0.005 <0.005 <0.005




TRI0EEERHF AN EATHE

aEEE il | I N | '
= L] —
CR — 1 EELTEYEEA 0
) H -
h F =T 9 LA 0.003
S 2 7 V| BmHEhENIE
£ 0.01
VAR i o LA 0.05
fit ES 0.01
#® K iR 0.0005
P (o} B BHEhiNIE
2Ry A = I = IS SV 0.02
# & & F 0.002
lake=ps vy 000
A= = = S 0.004
11->4son0xTFLy 0.1
12-450QITFLY 0.04
111-kysopxTay 1
112-kYysO0R0IT AR 0.006
k) sBBITFLY 0.01
Ttk 00ITFLY 0.01
13-osnnoRy 0.002
F v 2 Ls 0.006
> < v v 0.003
F A RN AL T 0.02
~ M £ v 0.01
+ L Mz 0.01
Eﬁ@fl?%;%&lﬂ 10
MMM ER
A S ES 0.8
[ES ) * 1
14- 2 4 F 4 0.05




F Ak 305F BE AR5t BE 1R SR B AR R

AEEE REEEE HER 5E_5§E TR MERX A= EEE EHX EHR
(mg/L) EE JUET K th EFHT BRE pi ) IEF[R B
® Kk H — 3F128 | 2A26H 348 2H278 | 2A278 | 3AUB | 2H2/8 | 3A12A
= 8 — EEIRE EEIRE REE REA ) RER RER REBE
! = = mE mE mE RIEKFRR mR MR HIEKER | BIEKRR
B H - 8.9 78 72 7.0 75 73 70 74
fit ES 0.01 = 0.040% — — - — = 0.041%
S B - - - <0002 - <0002 <0002 <0002
m & & &k & 0002 = = = <0.0002 = <0.0002 00002 | <0.0002
?iﬁ?t é:‘l:i : , '7’ _’) 0.002 - - - 0.0054% - 0.057% 0.12% 0.15%
12-> o005 0004 - - - <0.0004 - <0.0004 00004 | <0.0004
REST LR X - - - <0002 - <0002 <0002 <0002
12->oanITFL>| 004 - - - <0.004 - 0.12% 0.10% 0.006
i-rysonTay| 1 - - - <0.0005 - <0.0005 <0.0005 <0.0005
12-FyZaOT&| 0006 - - - <0.0006 - <0.0006 <0.0006 <0.0006
FosooTFLo| 00l - - - <0001 - <0001 <0001 <0.001
rSoOOTFLY| oo - - - <0.0005 - <0.0005 <0.0005 <0.0005
13->oanJOo~y| 0002 - - - <0.0002 - <0.0002 <0.0002 <0.0002
X o € o] oo - - - <0.001 - <0001 <0001 <0001
WEEERED | - - " — - N N N
FHBEER
5%k 08 - - - - 1.0 057 - -
F>% 1 2.1% - - - - - - -

FE1RPO NFREEELBBLI-CEERLTVET,

F2 RAO—HIF, AELTLVENIEERLTVET,




